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Lask | - Use jottings to help you. Remember to look .at the
denominator - this tells you how many sharing circles to draw ©

Who has more? Explain your answer

| have i of £8

Rosie
[ | have = of £6 P =
2 Whitney
Do iyou .agree?

because | have @@ @@
4 marbles. @@ @@

Task 3 Mo has two ribhons. He cuts |
4 [from each ribbon.

How long were Mo's whole pieces of
ribbon? Which ribbhon was the longest?
How much longer?

5 of ribbon A

iﬂf ribbon B

5ecm

q

4 cm

Task & Zach had 20 marbhles. He tripped .and dropped .o quarter of

them. How many marbles did he drop?

Daisy has & sweets and Liza wants a gquarter of them. I think she
will get 2, do you agree or disagree with my answer? Explain iyour

,r,e,a/s,oMLg.




